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1. Poppy borrows 100,000 to be repaid with level monthly payments for the next 10 years. The 

interest rate on her loan Is an annual effective rate of 8%. 

Calculate Poppy's monthly payment. 
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2. Cara Is the beneficiary of a deferred annuity. The deferred annuity wlll pay her 60 monthly 
payments of 500 with the first payment at the end of 8 months. 

Calculate the present value of Cara's annuity at a monthly effective Interest rate of 1%. 
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.3. LPon rf'Cf'lvf'<f II bhtl11f11y ,ilfl from hi~ 1Jr11111f1111rl'!nh torfay, at h15 age 20. However, Instead of 

fflvlnff fl to him u II lump~"'"• thPy wnulrf Ilk!" to Rivi'! him 2 optlom In which to receive it. 

• · A pPrJlPl11lly d11f! with seml11nn1111I paymenh of I' . 

b. An ,nnully lmmedl11te th11l pays 463.15 e11ch year for 15 years . ~ 

The present v11lue of (a) and (b) are the same today (at hl5 age 20) using an annual effective 

Interest r11te of 4~. 

Calculate P and round to 2 decimals. 
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